2 K=
NI YHFH MEEH
2 saddl (Etel: F2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
N 13,325,720 15,790,046 N2,464,326
= 79,000
[ 152,000
Al 13,004,720
EIESEIPXETETRS 12,208,469 14,798,677 A2,590,208
= 79,000
[ 152,000
Al 11,977,469
HAaae 6,079,665 5,561,567 518,098
[ 4,500
Al 6,075, 165
HA HE2E 20 527,381 354,887 172,494
101 Q124 86,201 235,957 NA149,756
04 JIH22XEE 86,201 235,957 NA149,756
QIMONBE AL L HEEE 22| of 28,734
=22 80,2402 * 1 %240 19,258
Bt 80,2402 %1252 4,173
=P = 80,2409+ 1Z*112 883
-S| 140,000+ 18122 1,680
-WEH| 95,0002 % 12122 1,140
-+ 50,0002+ 1% 12 600
-HEY0= 500, 0002 %123 1,000
CRLH Y BX o8 57,467
= 80, 2402 *2H %240 38,516
-=5rd 80, 240 x2 =522 8,345
= PN = 80,240 %2« 11L 1,766
=&t 140,000 %22 122 3,360
-WEH| 95,0002 2% 122 2,280
A< 50,0002x2H* 122 1,200
-HEY0= 500,000 *x2H*23| 2,000
201 L2 A 398,380 10,930 387,450
01 AFRZH2IHI 350,460 6,000 344,460
NREA Y HASE HARE 7Y 6,000
MD| MONRIE 22| (HAMFE) 7,824
-OHRE HAD| YRR
52,0004 128 624
~CAXY HERE $T 28 22|
220,0002 %103 2,200
-HATI2E AOIEEHAl 22 S 2272 5,000
SYEI| CCTV 0| &R 42 L SXH|
750,000 %504 *53] 18,750
SHH=EE HE 2,500,00004* 1002 250,000
E4 74 0 M 15,0007H*330 4,950




ord
K]

-

42,990
10,000
10,000
320,442
50,000
50,000

275,200
275,200
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G ﬂ = - Yo ooy 7 oy
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& <R = ww T = = o<k
S Ch o T g ot o BE g WD oM (|
F I o ~ ) o |D = - = & |5
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a1 e R 0 s\t Rl<|< Tl T B . KM
R = gl =z |e % Sls 20 0E 0|
”l=_Al AN m AN [ep]

170,442
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SN RHEE
N DM MEEY
el Fade (CHR: X 2)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
MEHD|IE &2 4,167,020
S48 HIIg $E8 1,016,422
401 AlEHILSTHY| 200,000 100,000 100,000
01 Al&ZHI 200,000 100,000 100,000
AR MEHIIS $ES 200,000
SAS FH EHaL 61,842 61,680 162
101 Q14| 61,842 61,680 162
VSIEEEIEEES 61,842 61,680 162
SAS L YEM S FH A 61,842
A== 80, 2402 *x5% 100 40,120
-FRad 80, 2402 *5ZHx20 8,024
B =—PNE= 80,240 *5H x4 1,605
-S&H 140,000 x5 +52 3,500
-S| 95,0002 *5H*52 2,375
-AEEE 6,218
SHHTIGZ=E! EHOIZ2 HMeldl Xl 20,000 20,000
302 OI=2THHEA S 20,000 20,000
02 IR L = RSS2 A S 20,000 0 20,000
S Toh=0 B2 HMeldl X 20,000
SIS 2ZAl AIA" B3 15,000 10,000 5,000
[ 4,500
Al 10,500
405 XHAHEISH 15,000 10,000 5,000
[ 4,500
Al 10,500
01 AL SEF SH| 15,000 10,000 5,000
SIS 2 Al AIAE HX
5,000,000 %374 A 15,000
[ 4,500
Al 10,500
Hol2 2l 976,898 629,682 347,216
= 79,000
[ 147,500
Al 750,398
Hol2Me= el 114,700 411,150 N\296,450
201 LBH29H| 61,200 357,650 A296,450
01 AlR2t2|H] 56,400 352,850 A296,450
HAEX 1 D& X 2
1,00094%20,000SET 20,000
LW nE EX 7Y
20,0002 %6501 13,000
HE2E 22| HiE 222 A 4,000
HEEZ DEt A =X 5,000




A gt
M YRS MBS
telr HoIE 2kl CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
ME2Z =1 HED| 22l 14,400
02 Z523| 4,800 4,800 0
ME2E2 =H I &I S4ld| 4,800
301 LESBHZ 13,500 13,500 0
14 J|Et243 13,500 13,500
ME2ItsTHE =dol NJE8 13,500
405 KHAHE S| 40,000 40,000
01 AL =SS FHSHI 40,000 40,000 0
WEEE £ 1| L3
20,000,000 *2J4 2~ 40,000
SEHHIEY =HEA= 112,000 112,000 0
= 14,000
= 14,000
Al 84,000
301 EtEEZ 112,000 112,000 0
= 14,000
& 14,000
Al 84,000
14 J|Et243 112,000 112,000 0
SEHHIE A3 XIJ 112,000
= 14,000
& 14,000
Al 84,000
SsdotE &= K& 50,000 50,000 0
= 15,000
& 10,500
Al 24,500
401 Al&EHIZL2THY| 50,000 50,000 0
= 15,000
= 10,500
Al 24,500
01 Al&H| 50,000 50,000 0
SSToHE XA
5,000,000&* 1070 2 50,000
= 15,000
= 10,500
Al 24,500
MEMY D] HHEZ2H SISt 30,000 10,000 20,000
& 9,000
Al 21,000
401 Al&HIZ 20| 30,000 10,000 20,000
& 9,000
Al 21,000




SA: K=E
MM XFH MEEA
telr HoIE 2kl CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 Al&H] 30,000 10,000 20,000
MEMYD| HIE 32 SRIBAIY
15,000, 0002 *x2JH 2 30,000
[ 9,000
Al 21,000
HIR)| 2=3 0IBHe A A ZAZ 500 500
301 YEHEAS 500 500 0
14 JIEF2 A2 500 500 0
BIR)| EE3 0|8He A Al BA3
10,0002 %5024 500
CI312I| THAIR SRIXIAI 100,000 0 100,000
= 50,000
Al 50,000
201 L2 100,000 0 100,000
= 50,000
Al 50,000
01 AFR22IHI 100,000 0 100,000
el 2 2 M= 100,000
= 50,000
Al 50,000
He2E 2oHa 22 189,698 0 189,698
101 QI24H] 189,698 189,698
M IIHR22IEES 189,698 0 189,698
He2= Astzel 189,698
A== 80,2402+ 15 x100 120,360
=58 80, 2402% 15203 24,072
—ERSE 80,2402« 15 =44 2 4,815
-= &l 140, 00024+ 15 +500 & 10,500
-IEH| 95,0002 15254 & 7,125
== 50,0002 15254 & 3,750
-4HesE 19,076
EIANEZ AFIIH XA 60,000 0 60,000
[ 18,000
Al 42,000
301 Y2 A 60,000 0 60,000
[ 18,000
Al 42,000
14 J|EI2 A S 60,000 0 60,000
EAZE AFIIH KA
200,0002 %307 A 10IH 60,000
[ 18,000
Al 42,000
SEMYID| SHUH HEA 200,000 0 200,000




2A AEz=st

M YRS MBS
el HIIE 2t CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 60,000
Al 140,000
101 QI24H] 120,000 0 120,000
& 36,000
Al 84,000
04 JI2HN22HSE+ 120,000 0 120,000
STAEMY ] =HE 120,000
—HEMYD| FHAXS e 2E
10,0002 +2% 2503 50,000
= 15,000
Al 35,000
-JHRE OtERE0|
100,000 x4 *1753] 70,000
& 21,000
Al 49,000
201 28t=3| 80,000 0 80,000
= 24,000
Al 56,000
01 At22tel] 80,000 0 80,000
=23 2 SRl 80,000
& 24,000
Al 56,000
STHEY Relals=I| £X 120,000 0 120,000
& 36,000
Al 84,000
201 et23| 40,000 0 40,000
= 12,000
Al 28,000
01 At22tel] 20,000 0 20,000
SEHEY R135=I] 22HI(EX)
5,000,000 %4 2 20,000
= 6,000
Al 14,000
02 S32gH| 20,000 0 20,000
SHHEY R13|I| &I & SAHI(EX)
5,000,000 *4 4 2 20,000
= 6,000
Al 14,000
405 AHAHFSHI 80,000 0 80,000
= 24,000
Al 56,000
01 AL =ZFSHI 80,000 0 80,000
SYHHEY R13|)| EX(EX)
20,000,000 *4 4 A 80,000




SA: =gt

MM XFH MEEA
telr HoIE 2kl CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
[ 24,000
Al 56,000
OHRIE 22 4,947,092 6,838,628 1,891,536
CAXIS QMHRZE 22 221,462 168,441 53,021
101 2124 90,532 59,511 31,021
M IIHR22IEES 90,532 59,511 31,021
CAXIS MDDl HXIE 22 L AIESE 22 90,532
-JlE= 80, 240 R *32 %240 2! 57,773
=54 80,240 %33 x522! 12,518
= a={(=bly 80,2402 *3L* 112 2,648
-FY22L 120,360 *3%H« 12 4,333
-2l 140, 00021 *3% * 122 5,040
-S| 95,0003 128 3,420
== 50,0003 122 1,800
-G240= 500,000 x3H*23] 3,000
201 L2 60,930 66,930 6,000
01 AF222IHI 15,600 21,600 6,000
HARE S A2E 72
1,200,000 *67H E Al 7,200
QMR 2E Z=&H| AX2
1,200,0002 %33 3,600
CAXIS AMUNEE 22X TI=HI(HA 3
otNE) 400,000 %12 %13] 4,800
02 2229 45,330 45,330 0
A22 RFH| 1,942:21%15,0002| Ef 29,130
QMIHE 2 =XE HIILS
100, 0002 *67H & A+ 122 7,200
SIMONRI A Al EH| S
1,500,000 *67H C Al 9,000
206 XHEH] 20,000 20,000 0
01 XHEH] 20,000 20,000
SRR ASE 20,000
401 AlEH| 22 OHH 50,000 22,000 28,000
01 Al&H] 50,000 22,000 28,000
SAIE MY DIQIMINRIE ALES 50,000
eI 1,129,230 1,027,320 101,910
101 Q1244 25,695 156,640 A130,945
04 JIRHHI2R2ISE % 25,695 156,640 A130,945
QM MY ME o8
200, 0002618 21,600
METHDIZ2 e L 28 = 218 4,095
201 L2 A 497,535 373,680 123,855
01 AFRZ2IHI 130,440 147,940 A17,500




SN RplEr)
M XS MRS
S HEd 2l (Ctol: ®M2l)
SA - B BRI(SI) - MIRAR - BaS Ol ko Gl HIms2
HI[QHEZIAL THEE 2
670,000 * 122 8,040
Kot AR 242
5,000,0002 43| 20,000
AES SEAN £22
1,500,0002* 128 18,000
MBI Bl SARH 222
2,500,00024 12" 30,000
QIMOUHEE AlE2 SR 30,000
LOIXIZ H2AIE KA 2,000
IHRE =25 Z&H| Uxt 20,000
N 22X TISHI(QHNE, otE3t)
400,000 *6ZH*13] 2,400
02 2329l 367,095 225,740 141,355
Aot AIES 4,000,000+ 122 48,000
HEE &IIRa 11,000,000 +6 2 66,000
HEE SAe3 200,000 * 122 2,400
IR W 22t Ka] 41,387
3% 1,52721%26,0002 £ 39,702
- 1,685&1,0002| €4 1,685
OHRIE L 2Rt SXizelt 30,000
MEHIIS HMelAE HEH 204 242 129,308
24| 2 22| 50,000
206 X=H| 30,000 30,000
01 HEHl 30,000 30,000
QIMIHEE U FHOIS ASAZ T 30,000
308 AEXIEHHISOIA 300,000 300,000 0
14 J|EtRE3 300,000 300,000 0
HOISXE 23 (22, 0HY) 300,000
401 Al&H| LSO 276,000 167,000 109,000
01 Al&H 276,000 167,000 109,000
DTTEE JIBAIE  AH0IN B4 100,000
MBS AMNYE LS BEeEY 70,000
METHD|2 SERCIE E4BAF 50,000
A2 L SAZSR HIIZ EEE 08U
sA Dl 28,000, 00084 <20 56,000
MEH IS A2AAE 29 2EH)| 2,400,000 2,400,000 0
307 9I2H0IA 2,400,000 2,400,000
05 pIZtelEra 2,400,000 2,400,000
MET |2 AAZ(ASTRAIL)2Y Qe 2,400,000
HOISX2IAIL =H0tE F0IRlArY 354,400 203,300 151,100
201 LBt2Y| 4,400 3,300 1,100
01 Al 22l 4,400 3,300 1,100




A XRA=E
N DM MEEY
S HEd 2l (CH]: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
N ERERNEIEENEEEEERIEE
SRR 100, 0008411 %43] 4,400
401 A& HIL S 0HY] 200,000 200,000 0
01 Al&HI 198,560 198,560
HIISX2IAIL FHOIS KA 198,560
03 Al&2THY| 1,440 1,440 0
HIISX2IAIL FHOIS KA 1,440
702 J12TE2 150,000 150,000
01 J12HE3 150,000 0 150,000
HOISX2IAE FHEXS XIS 150,000
IR JIBAIE 29 - 22| 450,000 450,000 0
307 2I2t0IA 450,000 450,000
05 DIZIRIES 450,000 450,000
ZZHE2I|BAIE 222 450,000
SAZAE 2BHLIAIL ?IEHY 392,000 392,000 0
307 2I2tolA 392,000 392,000 0
05 DIZtRIES 392,000 392,000
SAZIAE BBHIAL 29 392,000
NSRRI B SIEARIH 204,814 0 204,814
AR BE KIEAIIH 204,814 0 204,814
308 AFXISHHISOI& 200, 744 0 200, 744
13 B 2SO CHEHE A X I ELAIH 200, 744 0 200, 744
MIEE S5 XH2lAE 2F 200,744
403 RFXISHHISXH=20| ™ 4,070 0 4,070
02 2| 2SO0 CHEH =X I EAFH 4,070 0 4,070
QMIEE EESSHIAL TS 4,070
#HY2AHH| 1,117,251 991,369 125,882
ol | 1,117,251 991,369 125,882
olzi2 | 1,070,971 991,369 79,602
101 Q14| 1,064,971 985,369 79,602
03 SR (PIIH) 22 RE S 1,064,971 985,369 79,602
SHHI2H 1,064,971
Al=r=1 2,866, 1762158 x122 515,912
-A 2 115,044
., A2 3,486, 1602154 52,293
. FESIHI 4,183,400 %15% 62,751
IESY 21,600
o BHA 40,0004+ 158 * 122 7,200
. EHIH 20,0001 x4H* 155 * 122 14,400
~Hgg 100,000 %1128 1,200
== 100, 00024+ 15 x 122 18,000
-CHeI X &=+ 50,0002 * 153122 9,000




SA: K=E
NI HHSHAH|
£el: elsE23| (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
=) P = 60,000+ 153 %12 10,800
-=22| S M| 73,800
. Joigaly| 160,000 %158« 122 28,800
. JHHIE R 110,000 %158« 122 19,800
. WESEAH| 140,000 %15 * 12 25,200
-Z2esy 296,763
. ARII2R2Et
27,0774 %48 A1 2t 152 122 233,946
. ORI2R%E
9,026 2% 12A12Hx 15 %122 19,497
. ARSI
144, 40024+ 15H*20 43,320
U EESES] 190, 1002 % 15 2,852
201 L2 A 6,000 6,000 0
01 AFR22IHI 6,000 6,000 0
I/=H 6,000
A= 82,000+ 15H*23] 2,460
- SN (XY, LEE)
75,5002 %15 %23 2,265
-2IHEI2, 2EtR)
10,5002 15223 315
DJIEIEYI(HEHEE 5)
32,0004+ 15H*23] 960
J|=ZH| 46,280 46,280
201 L2 S 27,000 27,000
01 AFR2t2IHI 20,000 0 20,000
AtR2H2|H] 20,000
02 2229 7,000 0 7,000
2229| 7,000
202 04H| 12,000 0 12,000
01 2LH0IH 12,000 12,000
=LHOIH| 12,000
203 2| 5,280 5,280
04 PASHASTIIY| 5,280 0 5,280
SNSIARFXY| 5,280
405 KHAHESH 2,000 0 2,000
01 AU SEFSH| 2,000 2,000
e M2 1,000
HAD 1,000




